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Math 118 - Dr. Miller - Exam #1, Spring 2014 - Wednesday, 02/19/14

1. [§ pts - 1 each] Place a decimal point in each problem to make the most reasonable
measurement. Circle your point, ®, to make it clearly visible.

(a) Distance from VSC to the Library: 5 0 meters

(b) Temperature in a working refrigerator: 0 0 degrees Celsius
{c) Thickness of a quarter:(2 0 0 0 cm

(d) Weight of our textbook: @ 0 0 kg

(e} Volume of a medium-sized apple: 3 3 O mi

2. [8 pts - 2 each] In each HORIZONTAL row, circle the largest measurement, and un-
derline the smallest.

(a) freezing body temperature ) 30° C
(b) 2 ft 2 in
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(c) 3 gal 3¢ 3 ml
(d) 51b 5 oz

@@@, 3. [24 pts - 4 or 8 each] Convert and round as indicated. Show clear work, -

(a) 3.061 hm? to m? - do not round

2z

o | O,
oo
m""L______

/7

T




2

(b) 582 ounces to pounds - do not round e
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. (c) 0.57 km per $1 to R per meter - round to the nearest hundredth
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{d) 157.8 team-hours per mile? to man-minutes per ft® - round to the nearest tenth
(1 team == 40 men)
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4. 8 pts] Find the area of a circle whose circumference is 19.26 cm. Round to the nearest
hundredth. Show work.
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5. [6 pts] On the salt flats, a hiker walks 2.3 km north, then goes 1.5 km east, walks
another 2.5 km north, and finally walks 2.2 ki west, How far would it be for the hiker
to go directly back to his starting point? Show work; round to the nearest tenth,
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)
. [6 pts] Draw a heptomino {“hepto” means 7) whose perimeter is neither the largest
nor the smallest possible. Compute your perimeter, and explain how you know 1t falls

between the two extreme possibilities. _ adllest C ot
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k}@w +¢ 7. [10 pts] The height of a trapezoid is 10 feet. If each base gets 2 feet longer, what amount
:fij Qw ' will be added to the area? Show ONE pair of comparisons and state your conclusion
= : verbally.
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minimum possible length of the shortest side, to the nearest tenth?
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9. [3 pts] Draw, to scale, a rectangle whose area is triple that of the parallelogram shown
You may overlap the parallelogram if you wish
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10. [10 pts] An isosceles tuangle has an a1ea of 60 square meters and a base of 10 meters.

The other two sides are each z meters long. Find z, to the nealest tenth. Show clear
work.,

8. [8 pts/ In a triangle, the two longer sides are 15 inches and 19 inches. What is the
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; ' 11. [10 pts] Find the complete perimeter of a circular sector that opens 120° and whose
radius is 6.8 inches long. Round to the nearest tenth, and show work.
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\§ gé 12. [6 pts/ Draw and refer to a diagram to explain how many square feet there are in a square
yard. Your diagram should show and clearly label an object representing 1 square yard
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and also an object representing 1 square foot.
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